— ~ Context: Chinese science was considered in the West as a “backward’ offspring of the world science.

However, the works of Joseph Needham challenged this vision. Needham asked his famous question
usually called ‘Needham Puzzie’: Why modern science was not created in China? The same question is
sometimes asked in a different way: Why did China was a powerful ‘scientific superpower’ and then
suddenly lost its leadership in the world science?

Question: try to answer the “Needham Puzzie’ in one form or another, taking any field of Chi

you are familiar with, More specifically, show that in this field (1) the Chinese achieved a certain level of
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expertise comparable with that of the West; (2) at a certain moment, the field declined, while its Western
counterpart did not decline; (3) provide explanations of these phenomena which, in your opinion, can be
used to answer Needham’s questions; {4) try to find a weak point in Needham’s way of posing the

questions and show that these questions contain assumptions which are difficult to justify. (B DIF27{F
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